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FUNDAMENTALS OF CONTROL SYSTEM

fuifa g - 9 W) [SAftremas 37 : 70

Time allowed : Three Hours] |Maximum Marks : 70
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Note : Question No. 1 is compulsorv, answer any FIVE questions from the remaining.
(i) N T F G 5T ) HHAR TF G 5T it |
Solve all parts of a question consecutively together.
(iii) §% §v F1 73 98 & IRE Fifad |
Start cach question on fresh page.
(v) @ T 7 aR 817 #1 Rl F 3 s A 8

Onlv Enelish version is valid in case of difference in both the languages.
. e it ah W o]

1. = od =t wemee
Explain the following terms :
(i) 3T Berd -
Transfer Function
(i) Hpd VAT UTH
Signal Flow graph
(iti) fe 39T
Gain Margin
(iv) 1o fig v = faeag fag
Breakaway point ot root locus
(v) a3 s
Velocity error constant (2x5)
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(i) W o T §g o9 Frae o7 i aitenfya i |

Define the open loop and closed loop control system.

(i) Frnifera weiia @vs sm@ & foe 98 T9 T $e FTd HiT |

1233

Find closed loop transfer function of the following block diagram as shown

below, _
R G; G G,
H,
H: 3

= 61 wATae v SRyt g9EsT
Explain the construction and working of the following :
() . iR

D.C. Servo motor
(i) €9, TH T

D.C. Techo generator

(i) fafir woem & wlteqwr Fraw wepal =t |aassT |
Explain various types of test input signals.

(ii) m—aﬁa@wmﬁaﬁmaﬁmmj

Explain Routh-Harwitz stability criterion with example.

k .
G(s)H(s) = D) qy |
(s)HLs) s(s+1)(s+2) H?fﬁg T

Construct the root locus of G(s)H(s) = .
s(s+1)(s+2)

Draw the Bode plot for following open loop transfer function cont:'ul-systcms :

(a) G(s)= 1 (T = Any +ve Number)
. +

10

G(s)H(s) =
®) (=)Fls) (1+0.1s) (1 + 0.01s)
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7.~ (i) gfte Freer a3 % fore R w3 aen fRm 3t Prrais @Y whonfia Hife |

Explain (Define) the steady state error and static error constant, of a feed-back
control system.

(i) e & ey =1 wwensy |

Explain Time Domain Specifications. (6x2)

8. TrafafRan w ufira feoafir foflew

Write short notes on the following :
(i) Y e
Polar Plots
(if) e wiie ey
Nyquist Stability Criterion (6x2)
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